12@0732 (K12a0732)

mr\, d“ Linearized knot diagam
/ N i e e o e

\ 8 9 10 12 11 2 1 4 7 6 5
N

Solving Sequence

. 711»6%12%5ﬁ1%10%4ﬁ9%3%2ﬁ8»02707
A knot d1agrarrE| €11 €5 Ci2 Cp C4 Cg C3  C1  Cg

Ideals for irreducible component#ﬂ)f Xpar

I =W +u® 4 2u 1)

* 1 irreducible components of dim¢ = 0, with total 47 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u'"4+u®+- .- +2u+1)

(i) Arc colorings

ail =
1
a6 — u2
U
a2 = \ud +u

—ub —3ut+1
ub + 4u* + 3u?

ul + 6u° + 10u” + 2u® — 3u® — 2u
—ul — 7 —16u” — 13u® — 3ud +u

w6 + 9yt + 20412 + 38419 + 13u® — 10u® — 12u* — 202 + 1
—u'® — 10u'* — 38u!? — 68u!0 — 58u® — 20u’ + 4u? + 4u?

—udT — 22035 + .+ 10uB + u)

az = w4+ 23u 4 —ud

' + 1207 4 - — 11w - 2u

ag = w130+ —Tud
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u6 + 4u®® + ... — 4u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ' 4210 o 4wt 1
Co,C7 T a4 22 -1
€3, C4,Cy u'm — w1907 — 4
Cs5,C6, C10 u477u46+...+2u71
C11,C12
Cs '+ 3utl 4 du 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘@ T 11y e — 24y — 1
ca,C7 T =21yt Ay — 1
€3, C4, Co y*T — 45y ... £ 152y — 16
Cs5,C6, C10 y47+59y46++4y71
C11,C12
cg y47_y46++48y_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u = —0.413784 4 0.8777131

2.77094 — 10.328901

4.55615 + 8.725391

u = —0.413784 — 0.8777131

2.77094 + 10.328901

4.55615 — 8.725391

u= 0.195276 4 0.9420191

—4.26421 + 6.130921

—0.95567 — 8.264971

u= 0.195276 — 0.9420191

—4.26421 — 6.130921

0.95567 + 8.264971

= 0.413997 + 0.8619431

4.64721 + 5.048661

7.42319 — 4.275731

= 0.413997 — 0.8619431

4.64721 — 5.048661

7.42319 + 4.275731

u = 0.088069 + 0.9514481

—5.29996 — 0.718961

4.01239 + 0.138871

u = 0.088069 — 0.9514481

—5.29996 + 0.718961

—4.01239 — 0.138871

u = —0.371801 + 0.8477031

—0.66504 — 3.243761

1.24977 4 4.196071

u = —0.371801 — 0.8477031

—0.66504 + 3.243761

1.24977 — 4.196071

u= 0.418667 4 0.8193991

4.90772 +2.014111

7.94310 — 3.892271

u= 0.418667 — 0.8193991

4.90772 — 2.0141171

7.94310 + 3.892271

u = —0.422632 4 0.7990381

3.24960 + 3.243361

5.51628 — 0.963861

u = —0.422632 — 0.7990381

3.24960 — 3.243361

5.51628 + 0.96386.1

u = —0.166444 + 0.8775911

—2.03526 — 1.975571

2.70543 + 4.554751

u = —0.166444 — 0.8775911

—2.03526 + 1.975571

2.70543 — 4.554751

u = —0.173002 + 0.6582421

—0.78945 — 1.823751

5.03537 4 5.417121

u = —0.173002 — 0.6582421

—0.78945 + 1.823751

5.03537 — 5.417121

u = —0.632705 4 0.0370241

5.54952 — 6.801161

9.39680 + 5.309441

u = —0.632705 — 0.0370241

5.54952 + 6.801161

9.39680 — 5.309441

u= 0.631119 4 0.0201881

7.32256 4 1.525281

12.11554 — 0.461811

u= 0.631119 — 0.0201881

7.32256 — 1.525281

12.11554 + 0.461811

u = —0.585855

1.90017

6.44170

u= 0.263626 + 0.3790281

—1.33756 — 1.715401

3.14465 — 0.506061

u= 0.263626 — 0.3790281

—1.33756 + 1.715401

3.14465 + 0.50606.1

u=0.408286 + 0.2105971

—0.73079 + 4.113651

6.43864 — 8.584541

u = 0.408286 — 0.2105971

—0.73079 — 4.113651

6.43864 + 8.584541

u = —0.368463 + 0.0842321

0.852973 — 0.1960591

12.38641 + 2.183871

u = —0.368463 — 0.0842321

0.852973 + 0.1960591

12.38641 — 2.183871

u = —0.01412 4 1.640391

—8.92297 — 2.262811

0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u = —0.01412 — 1.640391 —8.92297 4 2.262811 0
u = —0.10060 + 1.645811 —5.17503 4 1.322951 0
u = —0.10060 — 1.645811 —5.17503 — 1.322951 0
u=0.10339 + 1.654107 —3.64160 + 3.956041 0
u= 0.10339 — 1.654101 —3.64160 — 3.956041 0
u = —0.09363 + 1.670361 —9.45217 — 4.998181 0
u = —0.09363 — 1.670367 —9.45217 4 4.998181 0
u=0.10750 4+ 1.669991 —4.14651 4 7.036741 0
u=0.10750 — 1.669991 —4.14651 — 7.036741 0
u = —0.10893 + 1.675411 —6.10861 — 12.338501 0
u = —0.10893 — 1.675411 —6.10861 + 12.338507 0
u = —0.03693 + 1.682297 —11.09350 — 2.722281 0
u = —0.03693 — 1.682297 —11.09350 + 2.722281 0
u = 0.04483 + 1.695251 —13.5927 + 7.04081 0
u = 0.04483 — 1.69525] —13.5927 — 7.04081 0
u = 0.02120 + 1.696201 —14.6803 — 0.29751 0
u = 0.02120 — 1.696201 —14.6803 + 0.29751 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ' 210 4 du 1
c2,C7 w4t -1
€3, C4, Cy u'm — w190 — 4
Cs5,C6, C10 Wt o —1
C11,C12
c8 " +3ut - du 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y Tyt 24y — 1
c2, 7 yt =21y ey — 1
C3,C4,Cg y47745y4°++152y716
Cs5,C6, C10 y47+59y46+”._~_4y_1
C11,C12
c8 Y-y 48y — 1




